BEF4I4E
SHSEEIL RIS 2 —T/IBBRINEZTH
SM3E4A18~SMA4E3A31H)

(1) IRA D EB Bf:H
B B AEEFHEA | FIEETHEB | LEIEHA-B 1 Z

1 Mg OYR S 12,081,000 12,090,000 -9,000

1 g oYK& 12,080,000 12,080,000 O[fESE L DY &

2 MIRA 1,000 10,000 -9,000(FE£FIF. ERARKEH

2 OS2 TAHEEBERA 1,070,000 1,145,000 -75,000

1 #BEE 287,565 215,795 71,770| AT F G E

2 7iE% 253,000 330,000 -77,000| B:AR D iEE

3 ZiEH 369,376 368,600 76| IEEMBEE NEEREBZIN

4 FEULA 160,000 230,000 -70,000(2E—£X. ENRIF

5 FULA 59 605 -546|FEE FF

3 BEEEFEH 7,636,000 6,107,000 1,529,000

1 EEETH 7,635,000 6,106,000 1,529,000|fE& TR E 2 24— 8 EEEH

2 FULA 1,000 1,000 O|FEEFIF. ERRERM
& & 20,787,000 19,342,000 1,445,000
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(2) ZHEDER BAr [
! B AEEFHEA|NIEEFHELB| LLEEEA-B 1 =
1 I IKYR T EEESE 12,081,000 12,090,000 -9,000
1 858 2,581,000 2,890,000 -309,000
gﬁg 360,000
BEE 120,000
(1) $REN 592,000 580,000 12,000 SlaE 108,000
= 4,000
- ~ N- M E24 1,442,000
)& 1,574,000 2,110,000 536.000| g pg o' = 1 ey ) 132,000
%‘1@{;5&*4 25,000
3) B BIEBIINE, YFHK) 100,000
(3) BB 364,000 149,000 215,000| g oo 21 e Y 4 6,000
EHEAR 41,000
4) =& 20,000 20,000 O|EEHZFER
(5) EfE# 31,000 31,000 WAV =2 -l !
2 BXE 9,500,000 9,200,000 300,000
BASEHXE - ARERE 1,294,000
BINRERSA TV TEE 406,220
ST SLIEART 504,540
(1) Hhig ;B R E 3,460,700 2,970,080 490,620| HE R 1T - R HHE 619,240
WESTHRERRE 138,600
IR—LR—TER- B H 298,100
mE= S 200,000
ﬁﬁﬁgﬁ%%ﬁ% 631,730
0) tEIRIE _ CHEMERE 364,000
Q) A RREEREE 1,878,550 2,077,000 198,450 o 25 1 B A 300,000
NE. CEFRERE 582,820
AL X B & 410,000
2= 4= ARBE 50,000
(3) BEIRAE 1,265,000 1,061,420 203,580| 5 S o e 155000
ANHWER, £EFEEE 650,000
(4) REREAXERE 170,000 518,000 -348,000| & FERR—Y K&(4m])
PR KT (B AT a8 - LEDE 623,280
N h—I3I5—RE 258,500
G) B - RBERERKE 1,456,780 2,321,500 -864,720| R BR LML MR 10,000
BRIBAT(H R AT ES A & 430,000
BRIBAT(ETBRAT) 22 B 3 i 15 135,000
5 FRE 2 4E 298,120
(6) BFK xR E 338,120 252,000 86,120 | i X [ SEIEAR MR T R EE R 30,000
MEmmtEIS— 10,000
(MEMEBEXE 930,850 0 930,850| X HHELEEXE
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® = AEETHEA | FIEETFHEA | LBIEHA-B 1 E:2
2 DS TqHEESEE 1,070,000 1,145,000 -75,000
1 % E 315,000 314,000 1,000
A2, Y R5— 90,000
() BHE 223,000 231,000 ~8,000 féﬁf(%%g%ﬂf ) o
EHRAM 13,000
(2) EfgH 32,000 30,000 2,000(/ 83 %
Q@ HE 60,000 53,000 7,000| SRS K . NHKZ{EH
2 EX%E 305,000 383,000 -78,000
m# £ 5,000 83,000 -78,000| A% &
(2) BBLEEER 55,000 55,000 ES=5-
Q) £EREHR 55,000 55,000 ES= 5
(4) BEXILH= 55,000 55,000 ol EE
6) REHREHS 80,000 80,000 B §-4
(6) ik R £ = 55,000 55,000 ES=5-
3 RitE 370,000 368,000 2,000| ARENER. NRMLFR
4 ETRE 10,000 10,000 0
5 FiRE 70,000 70,000 0
3IREEVA—EEE 7,636,000 6,107,000 1,529,000
1 REE A—EEE 7,636,000 6,107,000 1,529,000
() BBRES 4,914,000 3650000 1,264,000 fﬁ%égg 8 4’}22:888
2 EREEES 484,000 20,000 464,000 EEE% - 4231888
OF:3:3 - 661,000 610,000 51,000 ig}igﬁ 6821888
(4) HrL & 0 396,000 -396,000( & ff B ERHI#L
;ﬁi%nﬁ‘:E 92,000
(5) BRE 617,000 571,000 46,000 @i‘gg 138:388
BEERKRTH 400,000
6) BIEE 92,000 82,000 10,000|4 >3 — v Fi| A
(1) FH 20,000 20,000 O|EX limtsas it SREE
(8) EFEH 700,000 611,000 89,000 égi%i:ﬁi B
(9) Bt 148,000 147,000 1,000 ;E‘é?%%iif 1?2888
(10) fEam % 0 0 0
& [ #REF! 19,342,000  #REF!
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